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Solutions to Exercises 

(1) Complete each of the following sentences using the verb occurring in the 

previous sentence: 
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(2) Use   *�>   in three sentences of your own making it marfūʿ in the first, 

manṣūb in the second and majrūr in the third. 
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�إن  � َٱلسمع ِ ۡ َوٱلص � َ َ ۡ َ وٱلفؤاد  َ َ ُ ۡ �ك َ َأولئك  ُ
ِ
� ْ َ كن  ُ ُعنه  َ ۡ ۡمس َ و$ُ َٔ
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َو$  تبسطها  � ۡ ُ ۡ َ َ �كَ ۡ ٱلبسط ُ َ ِۡ-�  
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(3) Give the meaning of each of the following words: 
 
 
 
 
 
 
 

 +P-
O�C 
 
 
 
 
 
 
 
 
 
 
 
 

Pd�
c
�+  
 
 
 
 
 
 
 
 
 
 
 
 

 

PG�$*�&+  
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��-�A+  
 
 
 
 
 
 
 
 
 
 
 
 

 

Pe�#�%�_+  
 
 
 
 
 
 
 
 
 
 
 
 
 

Pf����/�A.  
 

old age 
 

 
 
 
 
 
 
 
 
 
 
 
 
 

 

wing 
 
 
 
 
 
 
 
 
 
 
 

 

 

 

repentant 

 
 
 
 
 
 
 
 
 

relationship, kinship 
 
 
 
 
 
 
 
 
 
 
 
 

 

 
 
 

poverty 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

 

 

a balance. 

(4) What is the iʿrāb of  g��C   in each of the following āyāt: 
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 (6) The plural of Pd�
c
�  is  0�
\�c���&. Form the plural of the following nouns on  

this pattern: 
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(7) What is the iʿrāb of the maqṣūr nouns in the following āyāt: 
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(8) What is the G�
-���_ of  q#��C�& in each of the following sentences: 
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(5) Which of the following nouns is �T�-$b�� 
��% PQ�.c� 
%    and why?: 

�4��-�A +�4H4�! 
 
 

»�4
��-�A«  because of the �s'�a�t$H�� .D���& at the end. 
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(10) How do you know from the āyāt under study that the word P=��
a   is 

feminine? 
 
 

Because ?�HB�� is used to refer to it, as in the āyah:  
 

ò 
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(9) What is the G�
-���_ of  B��C in each of the following sentences: 
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(11) In which of the following sentences does ��!�*�&   take  4��? 
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��'����� ���!�*�&.  

 
 
 
 
 

(12) Identify in the āyāt under study the following elements: 

 
 
 
 

 
 
 
 
 
 

 

1) a mabniyy noun which is �!,|�b
a ��
\
% ? .  
»}T�&«    

 
 

2) a mabniyy muḍāriʿ verb, and explain why it is mabniyy.  
 
 
 

»$�
~���O
3  « . It is mabniyy because  �"�.a�7'�C��$H�����'�6B��� w  is suffixed to it. 
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3) two nāqiṣ verbs, one of them belonging to a-u bāb, and the other to 

a-i bāb.  
 

�.��-
3 �
�
M+    (a-u) 
 ?�R��6
3 �
R�A (a-i) 

 

 

 
4) two manṣūb muḍāriʿ verbs the nāṣib of one of them being latent. 

 
                          V �*.7.O�@
E BZ�&.z�$3�_ BZ_[              = �& �Z ��"...  

 
 
 

V
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5) two mithāl verbs one of them being mujarrad and the other mazīd. 
 
 
 
 

�"�p
3 �"
)
*+   
 

  ?�!�.3 ��!�*�& 
 

 

 
 
 
 

 
 

6) two nouns each of which occurs only twice in the Glorious Qur’ān. 
 
 
 

Pe�#�%�_+    
 

   Pf����/�A 
 

 

 
 
 
 
 
 

7) a noun which does not accept tanwīn because of being a feminine       

    proper name. 
 
 

   .�$c
F
� 
 
 
 

8) a maṣdar functioning as ḥāl. 
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-
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(a-u)  

(a-i)  
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(13) Why is each of the following underlined nouns manṣūb? 
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(14) Derive the �1�.@��
 ���� .���� from each of the following verbs: 
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%  
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%  
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%  
 

(15) Quote a ḥadīth and an Arabic poetic couplet wherein the plural of ism al-

ishārah has been used to refer to non-intelligent nouns. 
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(16) Replace    �_��" by  �_$% � in the following sentence: 

 
 
 
 

�_��" .E
/�!��-�& 
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(17) Derive the   ���.�� �������� from each of the following verbs: 
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